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THREE YEAR B.A./B.Sc. DEGREE EXAMINATION — APRIL/MAY 2018
CHOICE BASED CREDIT SYSTEM
SIXTH SEMESTER
Part I — Mathematics
Paper : DSC — LAPLACE TRNASFORMS )
(w.e.f. 2017-2018)

Time : 3 hours Max. Marks : 75
SECTION - A
PRI - @

Answer any FIVE of the foHowing.

& (808 TPAS® PR DA ($FOKH FITEESB00 EPO0R0.

(Marks : 5 x 5 = 25)

1.  Find L {sin ¢ - cos 1)2}

L {sin t - cos t)z} 0 E0RTHod. -

2. Find L {e' coszt}.

E {e’ cos? t} 20 EORTH0E.

3.  State and prove Second Shifting Theorem in Laplace transform.

TR S69GIS"D Boikd 28 drroBo 39909 AETDOWB.

4. Find L {t2 sin at}.

L {t2 sin at} 0 EORTH0G.
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~at -bt
Find L {E—;L}

e—at _ e—bt

Find L {ﬁ‘i—}
s—4s+20

i {-—& B0 ESORH08.
s—4s+ 20

Find L {m}

! {(—23——} 2 E0R"508.
S+

)(s-3)

Find L™ {log (s us 3]},
) s+2

! {log (ﬁ)} 20 ESORT908.
s+2

SECTION-B
DS -~ D

Answer ALL quesﬁons.
o) RO ST PHR0e0 Eraod.

(Marks : 5 x 10 = 50)

( 27:] o
cos|t——| if t>—
9. (a) Find L {F(t)} where F ()= 3 3
; 2
0 if t<—
3
cos(t——”) f t>2—7r
F(t)= 3 3 ewand L {F(t)} % 50908,
. 27 v
0 .lf t < ?
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(b)

10. (a)
(b)
11. (a)

(b)

If F(t) is piecewise continuous function on every finite interval ¢ >0 and is of
exponential order ‘@’ as ¢ — » then show that the Laplace transform of F (t) exists

forall s > q.
120 ey (5S 38208 @osSI0S® F (1) ks D255 (piecewise) ©29)F) [[FDoako
DBA0 £ > o @056 a J0v BEKS o F () 5% s> a B03eY ePFd HBI8H

IFDJBO 9D BTG,
[~}

Find L {t3 cos t}‘

L {t3 cos t} 2 EDORATI0E.

Or .

State and prove Initial Value Theorem.

(2808 Dend ?om@‘oéom (05909 ABT*DoB[W.

Prove that I tPetsintdt=0.
)

©

f et sintdt=0 e d57D0508.
0

Or
Find L {J, (t)} and hence deduce that
@ L, (a)).

@) L {e"" Jy (at)} where J, (t) is Bessel function of order zero.
L {J, (1)} %0 $50R"50& 508050 o0 308
W L{J, (at)).

@ L T, (@)} 5 50M508. J, () w5086 s BENS Doy ook,
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12.

13.

(a)

(b)

(a)

(b)

rdPE D8 Ao &SR0 L7 {

pride B L Ly s vhn fing 2 220 L
{(32+1)2} 2tsmi:icen n {(1632+1)2

L B =l ¢t sint @ond L* L I 0 EOR"H0G.
2 (1652 +1f

Or

Find inverse Laplace transform of o8 +21 A
(s + 1) s“+1

g Boo¥), DS e OB ER"H0E.
3 b
(s+1){s* +1 o =

State and prove convolution theorem in inverse Laplace transform.

DR R SBIFHS D EFGrgHIS VT (5520 AETDOB0E.
Or

By using Heaviside’s expansion formula find L™ 196+ 97 ]
(s+1fs-2)(s+3)

193‘+:‘37
(s+1)fs-2)(s+3)

} 20 LR,
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